


CML [Reppy 91], Pict [Pierce & Turner 97]

p-calculus [Milner 93], HACL [Kobayashi 96]



Pl QP Q
new c C
c![V] C V
c?[ v] C Y

new c. (c![123] | c?[v].print![vVv])
> print![123]






[Kobayashi 97]



(1/3)

(1) :

x?[v].yt[3] | y?[w.x![7]
[

x: [int]>, y:[int]t ,Ss<tp x?[v].y!3]
x:[int], y:[int]'; t < sk y?[w] . x![7

x: [int]>, y:[int]t s<t, t< s|— X?[v] . y'[3] | y?[w] . x![7]



(2) :

new c . c?[Vv]

linear channel
replicated input channel
mutex channel

C

(2/3)



(3/3)

... ad hoc






(Iinear channel)



capability  obligation

capability
1/0

obligation
1/0



capability obligation

mutex channel
Oo| IC.OO| 'c-Oo| 'c-Oo|
5 o| 'c-Oo| IC.OO|



linear channel
Qo |l lTco - @
replicated input channel
g | 10, - g | 10
mutex channel
Oy | '(1.0)) - Oy | '(1¢0p)

U U| U| U|



iInput guard
ob(@ cap(@ G+xU,yt| P

G+ x[t)/(I,. U) | x?y] . P
asynchronous output
ob(t) cap(a) - ob(G

G+ x[t]/O, +yit | XI[y]



x:[int]/O,, y:[int]/O | x![5]
OK X
y
x:[1/1¢, y:[1/0,F x?[1.y![]

Error X

y
X:[11(Oy | 1), yi[l/0,
Foxt L] | x?[].y![]
OK X
y



subject reduction

no iImmediate deadlock output

G+ x[t]/O, } P P
P X output

3
deadlock-freedom output
G+ x[t]/O,} P P

P X output
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def fib[n,r] =
1T (n<2) then

ri[1]
el se

new C .

(fi
fi

c?|

o}

:n- 11 C:
' n-2, C]
].c?[y]

P X+y])



def fib[n T ]
1T (n<2) then r![1]
el se new c .
(fib!'[n-1,c] | fib!'[n-2,c] |
c?[x].c?[y].r![x+y])

deadlock-freedom



def fib[n T Q] =
1T (n<2) then r![1]
el se new c o|lO|!l.. 1. .
(fib!'[n-1,c] | fib!'[n-2,c] |
c?[x].c?ly].r![x+y])

r Q,
C ON O [ IF I

deadlock-freedom



